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COMMERCE
o (-Honouts Core)

 Paper : COM-HC-4026
( Business Mathematzcs )
Full Marks-: 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.
Answer either in English -or in Assamese.
1. Answer the following questions: 1x10= 10
| S RIS TeT fam
(@) Define a dlagonal matrix.

R e wicemt fomal

(b) In case of compound interest, what is
the formula for amount if interest is

compounded half yearly ?
SARTNY TN T A WY |
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(o)

(@)

(e)

(g)

(R

U

(o) =  (Fill up the blank)

> (T 3% 779 )
Evaluate : )

3 dx !

=
Define limit of a function f(x) at x=a. '

x=a Wf(x)wwmﬁml

The nth term of an A. P is 4n-3. Find

the 10t term.

Co g R RISH] nﬁﬂ -W"{’ﬁ‘ 4n-3 |

et 108w =it B |

Is a scalar matrlx a diagonal matrlx‘?
(Yes/ No)

B s @Wﬁ'ﬂ@ﬁ@l(éyﬂm)
Fill in the blank:

U 5 o

d _ .
= (TR)=

Define trade dié_count.
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Write one difference between matnx and
determinant. '

@mwﬁcﬁwwmm@ﬁm :

Answer the following questlons 2><5= 10
I SR Tew ﬁrn

(@

Evaluate :

(b)

(c)

0O -h g
h 0 -f
-g f O

Find the eight‘ and the tenth terms of
the series:

MWWWWVW%&IW
2+4+8+16+---

Divide Rs. 52 among A, B, and Cin the

1011
ratio —:—:—
°%2°3'%

» 111
sz-mA,chaWE:g:Z

TS st 3 |
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() Evaluate :

ﬁmmx%Jl—x

. x+3y'y 4 —1 g
) -If@ﬁ)[ﬁx 4}[0 4]
" Find the values of x and y.

xwasyamﬁcﬁasan

3. Answer the followmg questlons ‘(any Jour)

5x4=20

‘ Wﬁmwﬁﬁmwm

(a) Robin borrows Rs. 32,7 60 without
interest and -agrees to pay back in 12
‘monthly instalments, each instalment
being twice the preceding one. Fine the

- second and last instalments.
ﬁmﬁmmsz 760 B 41T T 1237
Mo R SRR «iReay 7911 5 R

S ATSH! R T ARt i o o

| ﬂﬁm«wqmnﬁw mﬁsﬁﬁw
wﬁm A ==
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(b) Prove that A’-4A+3I=0, where Iis
unit matrix, O is zero matrix and

()

-1 2

ol TN @, A2 -4A+3[=0 TSITA
G (eTFF, O Tel o (TorFe T

A= (»2 —1) -
1 2 R

v . (c) Solve_'-:

SR T ¢
x 1.1
11 .x 1]=0
D 11 x )
() Inte’gfated'any"two of the following:
. o x3‘_vx2+1'.'~v~ -
) [—E—dx |

a g

, . .
0 T
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() Fmda—ng | s

dy .
Ix ICGEE K

.-
() y=x+7
. X

(@) y=x'.e

() The value of a machine depreciates at
‘the rate of 10% p.a. At the end of 4

years, its value becomes % 1,31, 220
Find the original value.

Given: (0.9)* =0.6561
Bt Gfos &0 I2R 10%%@@@1’@‘

4 ILTT T (LA FT 1,31 ,220 59 =7,

SR GBI &S Wit T A w M
, ﬁatm: (0.9)* =0.6561

4. Answer any four from the following :
© 10%x4=40

Wﬁmm«ﬁmwﬁﬁmwm

(@) Solve the following system of equation
by Cramer's rule: 5
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3x+y+2z=3"
2x-3y-z=-3
x+2y+z=4
(b) A sum of money invested at compound
interest amounts to Rs. 2,420 at the
end of two years and to Rs. 2,662 at

the end of three years. Find the sum
and the rate of compound interest. S

S O B (T BT VLR FTS-CA
¥ W T/WO 2,420 53t e O 325w 7o
TS 2, 6623?#5@%@@@@3%&@
TR [efr -
5. (a) Evaluate : | . 2
A el =4 |
2 -3 |-1- -2
4 7 +. 4 -6
(b) Evaluate.: . 3
[1 111 3 [1]
2 2(|3
31
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(9

~ (th)

(b)

A 'man buy$ 8 dozen'of mangoes @% 18
per dozen, 10 dozen of.apples @Z 9 per
dozen and 4 dozen of bananas @6
per dozen. Represent the quantities

-bought by row matrix and prices by

column matrlx and hence find the total

~ cost. : 1+143=5

ﬂwwaﬁwm ISWSWW

A, afS Tow 9 Sore 10 wo wieie R
% &S T 6 T IO 4 T e i | (0F

& 311 N R AR e o 7w R

wcﬁamwﬁﬁmwwww .

T I A S A [ =1

Find (i) the average revenue function
and (i) the marginal revenue function
for the total revenue function (R) given
below Evaluate them at Q=2." ,

R=120Q0- Q2 , )

©TS fail Yo AR T (R)I AR (i) 19 o

T O (i) AB AR Fo [ Serean

Q=2 © CREANT TORT I =
R=12Q-Q%2.- =+

Prove that

AN A T

BO4FC 0235 8 .

ax+b

(@ 1 @R flo=
Prové that (ﬁ?ﬂ‘f FMA:
N O R
/ x | -
7. (a) Find the differential coefficient of x?
: ~using first principle - -5
'ﬁﬁlﬂ@maﬂ% P QW@W?{‘@ |
[0
(b)) Find the maximum and- mini'rnum
: values of 2x -9x? +12x-1. S
2x% —9x% +12x -1 ?‘?ﬂ%ﬁwaﬁém
fefer 3t |
8. (@) ’Deﬁne linear prOgramming’~ and state
' . its limitations. 4
' Wm«wmwmﬁm@mﬁ
WWI
" (b) Solve the following linear programming
| problem by graphical method. 6
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o G exgFe TRTICDY R AR T

{0
Maximize (%9 = e F=10) :
S - Z=8x+5y
Subject to (*fﬁ/ﬂfcﬂt‘ﬂ‘) :
x+ y< 250
2x+y <500
x <150
x,y 20.
(@) If the margihal revenue function is -
R'(x) =8 - 6x + 2x?; determine the total
~_revenue function. S
R(x)=8-6x+2x* (SR P Rt oy
Fer {4 30 |
(b) Examine the continuity of the following
function at x=3. 5
x=3 © e %cm 1 TR wﬁfﬁiﬁ'ﬁ '_
A3 A
2 _
' fl) X Jif x#3
X)) =
x= 3 if x=3
6 ,
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10. (a) . Define: _ . 1+1=2
| mf«fw :

(i) D1v1dends
Fn@l‘\"‘l‘

© (i) Market value of share
ST JET T

(b) Which is a better investment : 4% stock
at 82 or 43% stock at 95?7 3

82 T 4% BF KT 95 W 4%% BN
RINere e RiAGate sreeme 292

(¢ ¥ 2 men and 5 boys can do half a
piece of work in 5 days and 3 men and
4 boys can do one-third of it in 3 days,
then how many days will 9- men take
to finish it? , S
ﬂﬁﬂﬁtwwwzwsﬁqwsw
TR 5 T SIF IBIY g 3 T
TR ©IF 4 & TR 3 fie (7 9T A,
(O 9 T R R fiiere 13 PO O

- Jieq AR
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11.

(@)

. )

- (c)

: 1 2] 4 3 |
wem acly il of; 1]

Find the inverse of the following matrix:
‘ 6

wmm%%@m:

N W
S W w

1
A=|1
' 1

-5 4 8 -
If @) A=[—3 —6]’ B=[7 —4]

Find (ﬁ‘ﬁW) ' | | 2 g
' 2B+A o e

Find R : 2
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